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I. Continuation of discussion: nImn v. NNt
a.  Challenge (to position of 77:17): 01 that became defiled and was pn —isn’t nxn (if intentional)
i. Defense: refers to an individual’s 129p (no suggestion of Tma nmn)
b.  Need for p»¥. to achieve acceptance of offering brought with some form of nxmv->nnn7
i. Defensel: y>x needed for individual’s 127p
ii. Defense2: y>x needed also for public offerings having no set time (no suggestion of nmn)
c.  Challenge: nxn of ¥ (v1)
i. Cannot: refer to 9102 (v2 negates n¥»)
ii. Cannot: refer to 91m (v3 negates »x¥»)
iii. Must: refer to nkmv - which is permitted for 11ax
d. answer: dispute between nRin ("1’ 1#v™) re: need for y’¥ to be worn at time of 127p
i. w”r doesn’t need to be worn (proof from 3”1y — only 4 garments)
ii. 77/ 7% 3" doesn’t need Y% because 71axa NAMN ARNIV
1. »an: dispute only if ¥ is in its resting place but is still intact:
a. A1 1 1%t part of v. 1 requires “on his forehead”
i. @77 nxn Yy —only “works” if it is fit for his head (intact)
ii. /i 1 infers that from nx¥n#nxn (V™ ignores difference)
b.  pwpw 77 latter part of proa states 1Y TN
i. ”ppn” cannot mean “always worn” (sleeping etc.)
ii. /777 /7 N means that he should always be cognizant >y%an (via vp)
II. Dispute between &n ", *01 1 and 021120 1O RN 1 re: RN during days of sequestration
a. »”7 both for 5”ny and M9, all 7 days receives nxtn
b.  ’p» 77 in both cases, only 3¢ and 7* days
c. o297 o 820 77 for ma all days; for 5”nv only 34 and 7t days
i.  Explanationl: fimn nRMY vs. ANNT NRMY
1. Rejected: if anyone held nimn, - no need for any nxtn
ii. Explanation2: mxn nnra nvav
1. »”: must be done on time—> must have nxrrn (and n%2v) on all possible days
2. by “z. may be done anytime->pick arbitrary “start date” for 7 days
a.  Rejection: "ov "3 holds mxn ninra n%av (in re: 1920 while 'n oW is written on body)
iii. Explanation3: (all hold mxn mnra n51v ) whether we analogize nxtn::n51v
1. »p7r analogy created (via juxtaposition — see v. 4)
2. oy “r.no analogy — mxn Nnra 020 but not NRM
iv.  Explaining: R»In '7’s position
1. He: doesn’t accept analogy nxrrn::n%av
v. Statement: that 3"n3 before 5”nv::1n2 before n1an Na™Mw (except for separation from 02n3)
1. Could be: v&n "1 or *01 "1 — not 11N "1, who distinguishes between them vis-a-vis nRtn
d. reassessing: nYaw 93 NRIN
i. challenge: days 1-3, might be “day 3”, days 5-7 might be “day 7 —day 4 can be neither
ii. re-challenge: “all 7” is impossible, since nxtn is a Maw, we won’t do it on naw
iii. conclusion: “all 7” means “besides naw”(1oR) and “besides the 4™ day” (unnecessary)
iv. conclusion: for 5"nv (date set) — we separate him on the 3™ of »wn,
1. but: for n1a (where we have discretion as to the date) — separate him on Wednesday, so that the 4t day is naw
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